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BACHELOR OF COMMERCE 

(GENERAL) [B. COM. (G)] 

Term-End Examination 

June, 2024 

BCOC–136 : INCOME TAX LAW AND PRACTICE 

Time : 3 Hours     Maximum Marks : 100 

Note : Attempt any five questions. All questions 

carry equal marks.  

1. (a) “The income of the previous year is taxed 

in the current year.” Explain. What are the 

exceptions to this rule ?  10 

(b) What do you understand by Casual  

Income ? How are they treated under the 

Income Tax Act ? 10 

2. (a) Explain the provisions regarding Gratuity 

U/S [10(10)] of Income Tax Act. 10 
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(b) What do you understand by Allowances ? 

What are the fully taxable and partially 

exempted allowances ? 2+4+4 

3. (a) (i) What do you mean by annuity ?  

(ii) Mr. Madhur is getting a pension  

`  4,000 per month from a company. 

During the previous year, he got two- 

third pension commuted and received 

` 1,86,000. Compute the exempted 

amount, if (1) he also received 

gratuity. (2) he did not receive 

gratuity, for the assessment year 

2023-24. 2+5+5 

(b) What is entertainment allowance ? What 

are the provision of Section 16 (ii) 

regarding entertainment allowance for a 

government employee ? 8      

4. Mr. Radheyshyam is employed in a company. 

He gets the following from the company : 20 

(i) Salary ` 20,000 p.m. 
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(ii) Dearness allowance ` 2,000 p.m. 

(iii) Medical allowance ` 5,000 p.m. 

(iv) Bonus equal to 2 month’s salary. 

(v) Commission ` 20,000 p. a. 

The following perquisites are provided by the 

employer : 

(i) A sweeper an a cook getting salary of  

` 1,500 p. m. each. 

(ii) A car of 1400 CC for his personal use for 

which the employer pays. 

(iii) Rent-free unfurnished house in Etawah 

(poplation less than 10 lakhs) owned by 

employer, annual rental value of which is  

` 1,00,000. 

(iv) A gardener whose salary is ` 2,000 p.m. 

(v) For personal use free gas, electricity and 

water facility ` 20,000 for previous year 

which employer has paid. 

Compute taxable salary of Mr. Radheyshyam 

for assessment year 2023-24. 
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5. Pawan owns a house of which 50% portion is let 

out for the purpose of residence at ` 4,400 per 

month. 25% portion is used by him for his office 

and remaining 25% portion is used for his 

residence. From the following particulars, find 

out annual value of the house property : 20 

  ` 

(i) Municipal valuation of house 

property 60,000 

(ii) Fair rent of house property 70,000 

(iii) Municipal taxes 10% 

6. (a) List five expenditures as deductions which 

are allowed and five deductions which are 

not allowed under Section 37 (1). 5 

(b) What are the differences between short-

term capital gains and long-term capital 

gains ? Explain capital gain account 

scheme, 1988. 10+5 
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7. Mr. K, who is an Indian citizen and is a 

resident for income tax purposes submits the 

following information for the assessment year 

2023-24 :  20 

 Particulars ` 

(a) Gross salary 3,90,000 

(b) Profession tax paid 1,000 

(c) Own contribution to recognized 

provident fund 10,000 

(d) Employer’s contribution to 

provident fund 10,000 

(e) Dividend from an Indian 

company 2,000 

(f) Income on deposits with a 

company (gross) 40,000 

(g) Long-term capital gains from 

house property 50,000 

(h) Short-term capital gain from 

shares covered under Section 

111A 40,000 

Compute the total income. 
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8. Write short notes on any four of the following :  

4×5=20 

(a) Previous year and Assessment year 

(b) Public provident fund 

(c) Bondwashing transactions 

(d) Deduction u/S 80D 

(e) Income Tax Authorities 

(f) Agricultural income 
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(ii) ` ]

(iii) ` ]

(iv)

(v) ` ]

(i)

` ]

(ii) CC

(iii)

` ] ]

(iv) ` ]

(v) ¶ ]

` ]
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50%

í ` ]

] 25%

25%

  ` 

(i) 60,000 

(ii) 70,000 

(iii) 10% 

5 

]
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K

 ` 

(a) 
3,90,000 

(b) 
1,000 

(c) 

10,000 

(d) 
10,000 

(e) 
2,000 

(f) 

40,000 

(g) 

50,000 

(h) 

111A 40,000 
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